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Input:
9527600 60 75 85
9527601 98 84 76
9527602 37 59 43
9527603 77 89 63
9527602

Output:
37 59 43
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Input:

I am a boy.
Output:
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Input:

18 50 71 62 68 91 57 65 12 78 31
QOutput:

78 68 62 50 18 12
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Input:
312
854
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N3 = (NI++) + (+4N2) + (N3--) ;
N2 = (N3—-) + (—-N2) + (N1++) ;
N4 = (~-N2) + (+N3) + (N4~ ;
NI = (NI--) + (—N2) + (~—-N1) + (N2++) ;
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String{ ][] exam = { {"_", "NCUT", "CHIN-YI", "EECS", "ICSIE"},
{"98" },{ "4/12" },{ "Sun" } };
A: for (String[] ccl: exam){
B: for (String cc2: ccl) {
PRINT(exam{ 0][cho2. length()]);
continue A; }
break A; }
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